42x3-121+(7+4)
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12x(7-3)+2-1

D 12x4
@ 2-1

@ 7-3
® 12x(7-13)



&AM 71 A Astsiof she 22 of

36-9x3+48+8

D 36-9
@ 48 +8

@ 9x3

® 36-8

® 3+48
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104-55+16=[ |+16=[ |




650 + (530 — 490)
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6+2x17

D 6x17 @ 6+17

@ 2x17 ® 2+17

@ 6+2
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O 72+6x%x3 @ 80+ (5x2) ® 24x2+6

@ 3x(45+9) ® 5x(18+3)
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300 + (50 — 20) — 10
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15. #a g upe|r} skl 201 ¢ ¢-7-5 Aty 8 uhe] o] Zart
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}2 g WA ALgStel shtel
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21 x13 =273, 273+ 15 =288, 288+32=9

@ {(21x13)+15}+32=9 @ {(21x13)+15+32} =9
® (21x (13+15)+32}=9 @ 21 x{(13+15)+32}=9

® 21 x{13+(15+32)} =9



18.

o AR AL )SH{  }E @NH AREste] skt
Hoz ekl AOE §2 AL ot AU

7+ 8 =15, 15 x 59 = 885,

885 — 57 = 828, 828 + 46 = 18

@ (74 (8x59) =57} + 46 = 18
@ {(7T+8)x59—57)+46 =18
® {7+8x (59 —57)} + 46 = 18
@ 74+ {8x (59— 57)) +46 = 18

® 7T+ 8x{(59—57) +46) = 18



35-[ |x(5-2)+22=230




131 +8x2-109 = 38

@® 131+ (8x2)—-109 = 38
@ 131+ (8 x2-109) = 38
® (131 +8)x2-109 = 38
@ (131 +8) x (2-109) = 38

® 131+ 8x (2-109) = 38



